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𝑃(𝐴) =  
𝑛(𝐴)

𝑛(𝑆)

𝑃(𝑛) =

 

𝑥𝑛 = 𝑃(𝑛) 𝑥0

𝑃(𝑛) = 𝑃 × 𝑃 × …× 𝑃 = 𝑃𝑛

 

0 1 … 𝑀

0 𝑃00
(𝑛) 𝑃01

(𝑛) … 𝑃0𝑀
(𝑛)

1 𝑃10
(𝑛) 𝑃11

(𝑛) … 𝑃1𝑀
(𝑛)

⋮ … ⋮

𝑀 𝑃𝑀0
(𝑛) 𝑃𝑀1

(𝑛) … 𝑃𝑀𝑀
(𝑛)



 

 

 

 

 



 

 

 

0 0 0,12071

0 1 0,180874

𝑃

𝑃 =

[
 
 
 
 
 
 
 
0,120713 0,180874 0,138292 0,061333 0,128448 0,173842 0,117587 0,078912
0,099384 0,100205 0,144559 0,100205 0,140041 0,125667 0,144559 0,14538
0,090532 0,033195 0,118446 0,200679 0,11656 0,143342 0,127499 0,169747
0,088851 0,123244 0,148084 0,036305 0,207032 0,097449 0,143308 0,155728
0,109457 0,075008 0,155017 0,116124 0,142127 0,222803 0,045005 0,134459
0,098222 0,082212 0,125481 0,157501 0,124227 0,188222 0,102549 0,121587
0,139912 0,085991 0,120176 0,144846 0,097093 0,220264 0,095507 0,096211
0,032848 0,085875 0,135148 0,120131 0,209761 0,226185 0,091506 0,098545]

 
 
 
 
 
 
 



𝑃

𝑠𝑡𝑎𝑡𝑒 3
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0,

0

𝑥0 = [0,10073 0,099154 0,133956 0,119707 0,140253 0,186028 0,10375 0,116423]

𝑥0

0 10,1% 1 9,9% 2

13,4% 3 12% 4 14%

5 18,6% 6 10,4%

7 11,6% 𝑥0

𝑥0

𝑥1 = [0,10073 0,099154 0,133956 0,119707 0,140253 0,186028 0,10375 0,116423]

 

[
 
 
 
 
 
 
 
0,120713 0,180874 0,138292 0,061333 0,128448 0,173842 0,117587 0,078912
0,099384 0,100205 0,144559 0,100205 0,140041 0,125667 0,144559 0,14538
0,090532 0,033195 0,118446 0,200679 0,11656 0,143342 0,127499 0,169747
0,088851 0,123244 0,148084 0,036305 0,207032 0,097449 0,143308 0,155728
0,109457 0,075008 0,155017 0,116124 0,142127 0,222803 0,045005 0,134459
0,098222 0,082212 0,125481 0,157501 0,124227 0,188222 0,102549 0,121587
0,139912 0,085991 0,120176 0,144846 0,097093 0,220264 0,095507 0,096211
0,032848 0,085875 0,135148 0,120131 0,209761 0,226185 0,091506 0,098545]

 
 
 
 
 
 
 

𝑥1 = [0,0967 0,0921 0,1351 0,1219 0,1447 0,1763 0,1064 0,1267]

𝑥1

4 14,5%



𝑥2 = [0,10073 0,099154 0,133956 0,119707 0,140253 0,186028 0,10375 0,116423]

 

[
 
 
 
 
 
 
 
0,100695 0,092922 0,134825 0,124315 0,137474 0,174603 0,108822 0,126345
0,096618 0,090916 0,134689 0,123243 0,144439 0,179935 0,105262 0,124897
0,093033 0,094434 0,135384 0,114906 0,153989 0,175872 0,106959 0,125423
0,097005 0,087047 0,135609 0,127689 0,141559 0,186957 0,099595 0,124539
0,093173 0,091166 0,135107 0,123822 0,147126 0,175919 0,105967 0,127720
0,095808 0,093632 0,135286 0,118693 0,147863 0,173936 0,107817 0,126967
0,097970 0,097629 0,134634 0,117933 0,144626 0,172359 0,10985 0,125004
0,096625 0,084498 0,135967 0,127178 0,144336 0,179334 0,101116 0,130946]

 
 
 
 
 
 
 

𝑥2 = [0,096102 0,091616 0,135219 0,121908 0,145693 0,177159 0,105737 0,126567]

𝑥2

𝑥3 = [0,10073 0,099154 0,133956 0,119707 0,140253 0,186028 0,10375 0,116423] 

[
 
 
 
 
 
 
 
0,096215 0,09219 0,13511 0,121462 0,145697 0,176663 0,10633 0,126335
0,096156 0,091650 0,135206 0,121903 0,145657 0,177023 0,105773 0,126631
0,096296 0,090923 0,135313 0,122651 0,14517 0,177984 0,104977 0,126685
0,095866 0,091754 0,135173 0,121793 0,146031 0,176519 0,106030 0,126834
0,095945 0,091312 0,13528 0,121943 0,145962 0,177208 0,105575 0,126776
0,096189 0,091396 0,135249 0,122152 0,145485 0,177529 0,105467 0,126536
0,096431 0,091705 0,135215 0,121960 0,145218 0,17723 0,105813 0,126433
0,095533 0,091641 0,135241 0,121679 0,146499 0,177102 0,105664 0,126639]

 
 
 
 
 
 
 

𝑥3 = [0,096079 0,091529 0,135230 0,121977 0,145704 0,177206 0,105659 0,126616]

𝑥3

𝑥4 = [0,10073 0,099154 0,133956 0,119707 0,140253 0,186028 0,10375 0,116423]

 

[
 
 
 
 
 
 
 
0,09613 0,091539 0,13523 0,121984 0,145642 0,177224 0,105663 0,126595
0,096077 0,091537 0,135231 0,121969 0,145708 0,177206 0,105662 0,126611
0,09603 0,091564 0,135225 0,121939 0,145776 0,177137 0,1057 0,126631
0,09607 0,091506 0,135239 0,121977 0,145717 0,177244 0,105632 0,126614
0,096056 0,091505 0,135233 0,121991 0,145728 0,177233 0,105631 0,126622
0,096066 0,091543 0,135227 0,121967 0,145722 0,177178 0,105677 0,126622
0,096092 0,091569 0,135221 0,121958 0,145689 0,177172 0,105699 0,126600
0,096069 0,091458 0,135243 0,122024 0,145705 0,17726 0,105596 0,126644]

 
 
 
 
 
 
 

𝑥4 = [0,096071 0,091528 0,135231 0,121976 0,145715 0,177205 0,10566 0,12662]

𝑥4



𝑥5 = [0,10073 0,099154 0,133956 0,119707 0,140253 0,186028 0,10375 0,116423] 

[
 
 
 
 
 
 
 
0,096073 0,091534 0,135229 0,121973 0,145713 0,177199 0,105663 0,126617
0,09607 0,091528 0,135231 0,121976 0,145714 0,177205 0,105658 0,126619
0,096072 0,091522 0,135232 0,121979 0,14571 0,177211 0,105652 0,126619
0,096069 0,091527 0,135231 0,121978 0,145715 0,17721 0,105657 0,126619
0,096069 0,091526 0,135231 0,121976 0,145717 0,177205 0,105656 0,126621
0,096071 0,091527 0,135231 0,12198 0,145715 0,177206 0,105657 0,126619
0,096074 0,091529 0,135231 0,121975 0,145711 0,177204 0,105659 0,126617
0,096066 0,091527 0,135231 0,121975 0,145721 0,177203 0,105657 0,126620]

 
 
 
 
 
 
 

𝑥5 = [0,096071 0,091527 0,135231 0,121976 0,145715 0,177205 0,105657 0,126619]

𝑥5

𝑥6 = [0,10073 0,099154 0,133956 0,119707 0,140253 0,186028 0,10375 0,116423]

 

[
 
 
 
 
 
 
 
0,096071 0,09153 0,135231 0,12198 0,145715 0,177205 0,105658 0,126619
0,096071 0,091527 0,135231 0,121976 0,145715 0,177205 0,105657 0,126619
0,096070 0,09153 0,135231 0,121976 0,145715 0,177205 0,105657 0,12662
0,096071 0,091527 0,135231 0,121976 0,145715 0,177205 0,105657 0,126619
0,096070 0,091527 0,135231 0,121976 0,145715 0,177205 0,105657 0,126619
0,096071 0,091527 0,135231 0,121976 0,145715 0,177205 0,105657 0,126619
0,096071 0,091527 0,135231 0,121976 0,145715 0,177205 0,105658 0,126619
0,096070 0,091526 0,13523 0,121976 0,145715 0,177205 0,105657 0,126619]

 
 
 
 
 
 
 

𝑥6 = [0,096071 0,091527 0,135231 0,121976 0,145715 0,177205 0,105657 0,126619]

𝑥6

𝑥7 = [0,10073 0,099154 0,133956 0,119707 0,140253 0,186028 0,10375 0,116423]

 

[
 
 
 
 
 
 
 
0,096071 0,091527 0,135231 0,121976 0,145715 0,177205 0,10566 0,126619
0,09607 0,091527 0,1352 0,121977 0,145715 0,177205 0,105657 0,126619
0,096071 0,09153 0,135231 0,121976 0,145715 0,177205 0,105657 0,126619
0,096071 0,091527 0,135231 0,121976 0,145715 0,177205 0,105657 0,126619
0,096071 0,091527 0,135231 0,121976 0,145715 0,177205 0,105657 0,1266196
0,096071 0,091527 0,135231 0,121976 0,145715 0,17721 0,105657 0,126619
0,096071 0,091527 0,135231 0,121976 0,145715 0,177205 0,105657 0,126619
0,096071 0,091527 0,13523 0,121976 0,145715 0,177205 0,105657 0,12662 ]

 
 
 
 
 
 
 

𝑥7 = [0,096071 0,091527 0,135231 0,121976 0,145715 0,177205 0,105657 0,126619]

𝑥7



5

18,6% 17,6% 17,6%

17,6% 17,6% 17,6% 17,6%

17,6% 0 1

2 4

5

6 7

𝑋 =

[
 
 
 
 
 
 
 
10,1 9,9 13,4 12 14 18,6 10,4 11,6
9,7 9,2 13,5 12,2 14,5 17,6 10,6 12,7
9,6 9,1 13,5 12,2 14,5 17,7 10,6 12,7
9,6 9,1 13,5 12,2 14,5 17,7 10,6 12,7
9,6 9,1 13,5 12,2 14,5 17,7 10,6 12,7
9,6 9,1 13,5 12,2 14,5 17,7 10,6 12,7
9,6 9,1 13,5 12,2 14,5 17,7 10,6 12,7
9,6 9,1 13,5 12,2 14,5 17,7 10,6 12,7]

 
 
 
 
 
 
 

237,9515625𝑚𝑚

9,6% 9,1% 13,5%

12,2% 14,5% 17,7%

10,6% 12,7%



 

 

 

 

 

 

 

 

 

 

 

 

 

 


